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B.A. DEGREE EXAMINATION, APRIL 2024 

First Semester 

Economics  

MICRO ECONOMICS – I 

(CBCS –2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term ‘Economics’. 

 ‘ö£õ¸Íõuõμ®’ £ØÔ Áøμ¯Ö. 

2. State the definition of ‘Welfare economics’. 

 ‘|» C»UPn®’ £ØÔ Áøμ¯ÖUP. 

3. Write the meaning of value of exchange. 

 £›©õØÓ ©v¨¦ £ØÔ SÔ¨¦ GÊxP. 

4. Define ‘Supply’. 

 ‘AÎ¨¦’ & Áøμ¯Ö. 

5. Define marginal utility. 

 GÀø»¨ £¯ß£õk & Áøμ¯Ö. 

6. Write the example for substitution effect. 

 £v½mk ÂøÍÂØPõÚ GkzxUPõmøh GÊxP. 
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7. Define ‘Elasticity of demand’. 

 ÷uøÁ ö|QÌa] & Áøμ¯Ö. 

8. What is ‘Consumer surplus’? 

 ‘~Pº÷Áõº E£›’ GßÓõÀ GßÚ? 

9. Write a note on factors of production. 

 EØ£zvU PõμoPøÍ £ØÔ SÔ¨ö£ÊxP. 

10. What is meant by iso-quant curve? 

 \© EØ£zv ÷Põk GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe the importance of micro economics.  

    ~soÚ¨ ö£õ¸Íõuõμzvß •UQ¯zxÁzøu ÂÁ›. 

Or 

 (b) State the problems of an economy. 

   ö£õ¸Íõuõμzvß ¤μa]øÚPøÍ¨ £ØÔ TÖP. 

12. (a) Illustrate the law of Demand. 

  ÷uøÁ Âvø¯ GkzxU TÖP. 

Or 

 (b) Describe the types of Commodity. 

  ö£õ¸ÒPÎß ÁøPPøÍ ÂÁ›.  

13. (a) Explain the law of diminishing marginal utility 
with an example. 

  SøÓ¢x ö\À CÖv {ø»¨ £¯ß£õmk Âv°øÚ 
GkzxUPõmkhß ÂÍUSP. 

Or 
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 (b) State the properties of indifference curve. 

  \©÷|õUS ÁøÍ÷Põmiß C¯À¦PøÍU TÖP. 

14. (a) Describe the cross elasticity of demand with 
suitable example.  

  SÖUSz ÷uøÁ ö|QÌa]°øÚ ö£õ¸zu©õÚ 
GkzxUPõmkhß ÂÁ›UP. 

Or 

 (b) Identify the measurement of consumer surplus.  

  ~Pº÷Áõº E£› •øÓPøÍ GkzxU TÖP. 

15.  (a) Mention the characteristics of labour. 

  EøÇ¨£õÍºPÎß ußø©PøÍ GkzxøμUP. 

Or 

 (b) Describe producers equilibrium. 

  EØ£zv¯õÍ›ß \©{ø»ø¯ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elaborate the methods of Economic analysis.  

 ö£õ¸Î¯¼ß •øÓPøÍ Â›ÁõP GkzxøμUP. 

17. Analyse the demand and supply equilibrium in the 
market.  

 A[Põi°À ÷uøÁ ©ØÖ® AÎ¨¦PÐUQøh÷¯¯õÚ 
\©{ø»ø¯ £Szuõ´P. 

18. Explain Income effect and Income consumption curve 
using indifference curves.  

 Á¸©õÚ ÂøÍÄ ©ØÖ® Á¸©õÚ ~PºÄ ÁøÍ÷PõmiøÚ 
\©÷|õUS ÁøÍ÷Põmøh £¯ß£kzv ÂÁ›. 
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19. Explain the various types of Elasticity of demand. 

 ÷uøÁ ö|QÌa]°ß ÁøPPøÍ ÂÍUSP. 

20. Elucidate the stages of law of diminishing returns to 
scale.  

 SøÓ¢u ö\À AÍøÁ ÂøÍÄ Âv°ß {ø»PøÍ 
ÂÁ›UP. 

 
———————— 
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B.A. DEGREE EXAMINATION, APRIL 2024 

First Semester 

Economics 

BUSINESS STATISTICS – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a data? 
 ¦ÒÎÂ£μ® GßÓõÀ GßÚ? 

2. What is meant by census? 
 •ÊPnUöPk¨¦ Gß£uß ö£õ¸Ò ¯õx? 

3. Define tabulation. 
 AmhÁøn£kzxuÀ Áøμ¯Ö. 

4. Write a note on Histogram. 
 ö\ÆÁP Áøμ£h® £ØÔ GÊxP. 

5. Define frequency. 
 Aø»öÁs Áøμ¯Ö. 

6. Find out the Median value for the following data. 20, 15, 
10, 25, 12, 13, 9. 

 RÌPsh uμÄPÐUPõÚ Cøh{ø» ©v¨ø£ Psk¤i. 20, 
15, 10, 25, 12, 13, 9. 
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7. What is meant by measures of central tendency? 
 ø©¯÷£õUQß AÍÃkPÒ Gß£uß ö£õ¸Ò GßÚ? 

8. Write any two advantages of the range. 
 Ãa]ß H÷uÝ® C¸ |ßø©PøÍ GÊxP. 

9. Write down the Karl Pearson’s formula of coefficient of 
skewness. 

 PõºÀ¤¯º\Ûß ÷PõmhUöPÊ `zvμzøu GÊxP. 

10. What is the range of Bowley’s coefficient of skewness? 
 ö£Í÷»°ß ÷PõmhUöPÊ Ãa_ ¯õx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the functions of statistics. 
  ¦ÒÎ°¯¼ß £oPøÍ ÂÍUSP. 

Or 

 (b) State the limitations of Sampling. 
  uμÄPøÍ ÁøP¨£kzxu¼ß ÁøPPøÍ ÂÍUSP. 

12. (a) Explain the types of Classification of Data. 
  uμÄPøÍ ÁøP¨£kzxu¼ß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) State briefly the bar diagrams. 
  £møh ÂÍUP¨£h® £ØÔ _¸UP©õPU TÖP. 

13. (a) What are the qualities of a good average? 
  |À» \μõ\›°ß uSvPÒ ¯õøÁ? 

Or 

 (b) Find harmonic mean of 5, 10 and 20. 

  5, 10 ©ØÖ® 20ß Cø\ÁõÚ \μõ\› Psk¤i. 
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14. (a) Calculate lower quartile from the given data. 13, 3, 
7, 15, 17, 5, 23. 

  RÌPsh uμÄPÐUPõÚ SøÓ¢u£m\ PõÀ©õÚzøu 

PnUQkP. 13, 3, 7, 15, 17, 5, 23. 

Or 

 (b) Explain the different measures of variation. 

  ©õÖÂQu[PøÍ AÍÂk® £À÷ÁÖ AÍÃkPøÍ 
ÂÍUSP. 

15.  (a) What are the uses of Skewness? 

  ÷PõmhUöPÊÂß £¯ßPÒ ¯õøÁ? 

Or 

 (b) Given that mean = 156.17. median = 153.50 and 
standard deviation = 19.03. Calculate coefficient of 
skewness. 

  \μõ\› = 156.7, Cøh{ø» = 153.50 vmh Â»UP® = 
19.03. öPõkUP¨£mkÒÍ Â£μ£i ÷PõmhöPÊøÁ 
Psk¤i. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Define Primary data and Secondary data. Explain the 
methods of collecting the data. 

 •uÛø» ©ØÖ® Cμshõ® {ø» uμÄ Áøμ¯Ö. ¦ÒÎ 
Â£μ[PøÍ ÷\P›US® •øÓPøÍ ÂÍUSP. 

17. Discuss the advantages and limitations of Diagrams and 
Graphs. 

 ÂÍUP¨£h[PÒ ©ØÖ® Áøμ£h[PÎß |øÓPÒ ©ØÖ® 
Áøμ¯øÓPøÍ ÂÁõv. 
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18. Calculate Arithmetic mean, median, mode for the 
following data.  

x : 0-5 5-10 10-15 15-20 20-25

f : 5 8 10 8 4 

 RÌPsh uμÄPÐUPõÚ Tmk\μõ\›, Cøh{ø» ©ØÖ® 
•Pk PnUQk. 

x : 0-5 5-10 10-15 15-20 20-25

f : 5 8 10 8 4 

19. Marks obtained by 25 students in a class-test given 
below:  

Marks: 5-9 10-14 15-19 20-24 25-29 30-34 35-39

No. of students: 1 3 8 5 4 2 2 

 Calculate the Coefficient of Range. 

 25 ©õnÁºPÒ ÁS¨¦ ÷uºÂÀ ö£ØÓ ©v¨ö£sPÒ R÷Ç 

©v¨ö£sPÒ: 5-9 10-14 15-19 20-24 25-29 30-34 35-39

©õnÁºPÒ GsoUøP: 1 3 8 5 4 2 2 

 Ãa]ß öPÊÂøÚ PnUQkP. 

20. Find out Bowley’s coefficient of skewness for the following 
data:  

X : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

f : 15 20 15 20 40 15 40 35 

 RÌPsh uμÄPÐUPõÚ ö£Í÷»°ß ÷PõmhUöPÊÂøÚ 
Psk¤i: 

X : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

f : 15 20 15 20 40 15 40 35 

———————— 
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U.G. DEGREE EXAMINATION, APRIL 2024 

Economics 

Allied : LABOUR ECONOMICS 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define migration of labour. 

 öuõÈ»õÍº Ch¨ö£¯ºÄ £ØÔ Áøμ¯Ö. 

2. State any two measures to reduce labour turnover. 

 EøÇ¨£õÍº ¦μÒøÁ SøÓ¨£uØS H÷uÝ® Cμsk 
ÁÈPøÍU TÖP. 

3. What are the forms of industrial dispute? 

 öuõÈÀ uPμõÖPÎß ÁiÁ[PÒ ¯õøÁ? 

4. Mention the causes of industrial disputes. 

 öuõÈÀ uPμõÖPÐUPõÚ Põμn[PøÍU SÔ¨¤kP. 

5. What is nominal wage? 

 ö£¯μÍÄU T¼ GßÓõÀ GßÚ? 

6. Write the meaning of real wage. 

 Esø©U T¼°ß ö£õ¸Ò GÊxP. 

Sub. Code 
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7. List the social security measures for labour in India. 

 C¢v¯õÂÀ öuõÈ»õÍºPõÚ \‰P¨ £õxPõ¨¦ 
|hÁiUøPPøÍ £mi¯¼kP. 

8. Define occupational hazards. 

 öuõÈÀ\õº B£zxPÒ £ØÔ Áøμ¯Ö. 

9. Who are called as child labour? 

 SÇ¢øuz öuõÈ»õÍº Gß£Áº ¯õÁº? 

10. Write a short note on status of women workers. 

 ö£s öuõÈ»õÍºPÎß {ø» £ØÔ ]Ö SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the causes for migration of labour. 

  öuõÈ»õÍº Ch¨ö£¯ºÄUPõÚ Põμn[PøÍ 
ÂÍUSP. 

Or 

 (b) State the difficulties in measuring labour turnover. 

  EøÇ¨£õÍº ¦μÒøÁ ©v¨¤kÁvÀ EÒÍ 
¤μa\øÚPøÍU TÖP. 

12. (a) How to prevent the industrial disputes? Briefly 
explain. 

  öuõÈÀ uPμõÖPøÍ GÆÁõÖ uk¨£x? _¸UP©õP 
ÂÍUSP. 

Or 

 (b) Write the methods of settle the industrial disputes. 

  öuõÈÀ uPμõÖPøÍz wºUS® ÁÈ•øÓPÒ £ØÔ 
GÊxP. 
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13. (a) Interpret the factors affecting real wages. 

  Esø©U T¼ø¯ £õvUS® PõμoPøÍ ÂÍUSP. 

Or 

 (b) Point out the methods of wage payment. 

  T¼ ö\¾zuÀ •øÓPÒ £ØÔ SÔ¨¤kP. 

14. (a) What are the social security measures available for 
workers in unorganized sector? 

  Aø©¨¦ \õμõ öuõÈÀ {ÖÁÚ[PÎÀ 
öuõÈ»õÍºPÐUS ÁÇ[P¨£k® \‰P¨ £õxPõ¨¦ 
|hÁiUøPPÒ ¯õøÁ? 

Or 

 (b) Write a note on working conditions of labour in 
India. 

  C¢v¯õÂÀ öuõÈ»õÍºPÎß PÁø» {ø» £ØÔ 
GÊxP. 

15.  (a) Mention the causes of child labour. 

  SÇ¢øuz öuõÈ»õÍº E¸ÁõÁuØPõÚ Põμn[PøÍU 
SÔ¨¤kP. 

Or 

 (b) Summarize the problems of women workers. 

  ö£s öuõÈ»õÍºPÎß ¤μa\øÚPøÍ _¸UP©õPU 
TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the characteristics of labour. 

 öuõÈ»õÍºPÎß C¯À¦PÒ £ØÔ ÂÁõv. 

17. Examine the effects of industrial disputes. 

 öuõÈÀ uPμõÖPÎß ÂøÍÄPøÍ B´Ä ö\´P. 
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18. Explain the causes for wage difference. 

 T¼ ÷ÁÖ£õmiØPõÚ Põμn[PøÍ ÂÍUSP. 

19. Describe the occupational hazards. 

 öuõÈÀ\õº B£zxUPøÍ ÂÁ›UP. 

20. Elucidate the legislature measures to regulate child 
labour. 

 SÇ¢øuz öuõÈ»õÍºPøÍ Áμß£kzx® \mh 
|hÁiUøPPøÍz öuÎÄ£kzxP. 

———————— 
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Second Semester 

Economics 

MICRO ECONOMICS — II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is marginal cost? 

 CÖv {ø» ö\»Ä GßÓõÀ GßÚ? 

2. Define average revenue. 

 ÁøμÂ»ºPn® {Pμ Á¸©õÚ®. 

3. What do you mean by market period? 

 A[PõiUPõ»® £ØÔ¯ P¸zx GßÚ? 

4. Define the term firm. 

 {ÖÁÚ® £ØÔ ÁøμÂ»UPn® GÊxP. 

5. What is monopoly? 

 \ºÁõwÚ® GßÓõÀ GßÚ? 

6. Define product variation. 

 ÁøμÂ»UPn® £sh ÁøPø¯ ©õØÓÀ. 

Sub. Code 
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7. What is quasi rent? 

 ÷£õ¼Áõμ® GßÓõÀ GßÚ? 

8. Define money wage. 

 ÁøμÂ»UPn® : £nUT¼. 

9. What do you mean by dishoarding? 

 ÷\ª¨¦U Pø»¨¦ £ØÔ¯ P¸zx GßÚ? 

10. Who is an entrepreneur? 

 öuõÈÀ •øÚ÷Áõº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between implicit cost and explicit cost. 

  ©øÓ•P ö\»ÂØS® öÁÎ¨£øh¯õÚ ö\»ÂØS® 
EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

Or 

 (b) Explain the importance of average and marginal 
revenues. 

  {Pμ ©ØÖ® CÖv{ø» Á¸©õÚ[PÎß 
•UQ¯zxÁzøu ÂÍUSP. 

12. (a) Describe the types of market. 

  \¢øuPÎß ÁøPPøÍ ÂÁ›. 

Or 

 (b) Mention the characteristics of perfect competition. 

  {øÓÄ¨ ÷£õmi°ß Snõv\¯[PøÍU GkzxøμUP. 
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13. (a) Explain the degrees of price discrimination. 

  Âø» ÷£uzvß {ø»PøÍ ÂÍUSP. 

Or 

 (b) Describe the special features in monopolistic 
competition. 

  HP÷£õP ÷£õmi°ß ]Ó¨¦ A®\[PøÍ ÂÁ›. 

14. (a) List the types of wages. 

  T¼PÎß ÁøPPøÍ Á›ø\£kzxP. 

Or 

 (b) Explain Marshalian quasi rent.  

  ©õºå¼ß ÷£õ¼ Áõºzøu ÂÍUSP. 

15.  (a) State the classical views on interest. 

  Ámi £ØÔ¯ öuõßø© ö£õ¸Íõuõμ ÁÀ¾ÚºPÎß 
P¸zxPøÍ TÖP. 

Or 

 (b) Explain Walker views on profit. 

  »õ£® £ØÔ¯ Á›UP›ß P¸zxUPøÍ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elaborate the role of economics of scale in production. 

 EØ£zv°À ]UPÚ[PÎß £[PÎ¨ø£ Â›ÁõP 
GkzxøμUP. 

17. Analyse the short-run and long-run equilibrium of an 
industry. 

 J¸ öuõÈØ\õø»°ß SÖQ¯Põ» ©ØÖ® }sh Põ» 
\©{ø»ø¯ ÂÁõv. 
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18. Discuss the price-output determination under 
monopolistic competition. 

 •ØÖ›ø©¯õÍºPÒ ÷£õmi A[Põi°À Âø» ©ØÖ® 
EØ£zv wº©õÛzuø» ÂÁõv. 

19. Elucidate the subsistence theory of wages with its 
defects. 

 ÁõÌUøP©mh T¼U ÷Põm£õmiøÚ öuÎÄ£kzv Auß 
SøÓPøÍ ÂÍUSP. 

20. Discuss innovation theory of profit. 

 »õ£® £ØÔ¯ ¦zuõUQ ÷Põm£õmiøÚ ÂÁ›. 

——————— 
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BUSINESS STATISTICS – II 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the meaning of correlations. 

 JmkÓÄ Gß£uß ö£õ¸Ò TÖP. 

2. Give the formula for finding out Karl Pearson’s coefficient 

of correlation by short cut method. 

 SÖUSöÁmk •øÓ°»õÚ PõºÀ¤¯ºéÛß JmkÓÄ öPÊ 

`zvμzøu ÁÇ[SP. 

3. What are the two regression equations? 

 C¸ öuõhº¦÷£õUS \©ß£õkPÒ ¯õøÁ? 

4. If the value of two-regression coefficient are –0.5 and  

–1.28 find the value of coefficient of correlation. 

 C¸ öuõhº¦÷£õUS öPÊ ©v¨¦ –0.5 ©ØÖ® 

–1.28 GÛÀ JmkÓÄ öPÊ ©v¨¦ ¯õx? 

Sub. Code 
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5. Define simple event. 

 \õuõμn {PÌÄ Áøμ¯Ö. 

6. What is the difference between independent and 
dependent events? 

 \õº¢u ©ØÖ® \õμõu {PÌÄPÐUQøh÷¯¯õÚ ÷ÁÖ£õk 
¯õx? 

7. What is trend? 

 ÷£õUS GßÓõÀ GßÚ? 

8. Write the meaning of seasonal variations. 

 Põ»©õÖ£õkPÒ Gß£uß ö£õ¸Ò GÊxP. 

9. Give any two uses of index numbers. 

 SÔ±möhsPÎß H÷uÝ® C¸ £¯ßPøÍ ÁÇ[S. 

10. Write the methods of selecting the base period. 

 Ai¨£øh Bsøh ÷uº¢öukUS® •øÓ°øÚ GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the properties of correlation coefficient? 

  JmkÓÄU öPÊÂß £s¦PÒ ¯õøÁ? 

Or 

 (b) What do you mean by scatter diagram? How will 
you interpret Co relationship with its help? 

  ]uÓÀ Áøμ£h® £ØÔ }Âº AÔÁx ¯õx? Auß 
J¸[Qøn¢u öuõhº¤ß £¯øÚ G¨£i 
£¯ß£kzxÁõ´? 
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12. (a) Write two normal equations which are used for 

finding the values of ‘a ’ and ‘b ’ in the least squares 

method for regression equation. 

  SøÓ¢u ÁºUP •øÓø¯ £¯ß£kzv öuõhº¦÷£õUS 

\©ß£õkPÎß ‘a ’ ©ØÖ® ‘b ’ ß ©v¨¤ß 

Ai¨£øh°À Cμsk C¯À£õÚ \©ß£õkPøÍ 

GÊxP. 

Or 

 (b) If two regression lines are 0263 =−+ xyx  and 

0316 =−+ yx  find correlation coefficient. 

  0263 =−+ xyx  ©ØÖ® 0316 =−+ yx  

öuõhº¦÷£õUS ÷PõkPÒ GÛÀ, Auß JmkÓÄ 

öPÊøÁ PõsP. 

13. (a) For two mutually exclusive events A  and B  if  

( ) 25.0=AP  and ( ) 40.0=BP , then find ( )BAP ∪ . 

  A  ©ØÖ® B  Cμsk uÛuÛ {PÌÄ GÛÀ, 

( ) 25.0=AP  ©ØÖ® ( ) 40.0=BP , ( )BAP ∪  PõsP. 

Or 

 (b) What is the probability of drawing a Queen or a 

king from a pack of cards? 

  J¸ ^mkPmi¼¸¢x J¸ μõo AÀ»x J¸ Aμ\ß 

Põºk Á¸ÁuØPõÚ {PÌuPÄ GßÚ? 
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14. (a) What are the components of time series? 

  Põ»zöuõhº Á›ø\°ß EmTÖPÒ ¯õøÁ?  

Or 

 (b) Estimate the equation to the trend line from the 
following data: 

Year : 1990 1991 1992 1993 1994 1995 1996

Value : 75 67 68 65 50 54 41 

  RÌPsh Â£μ[PÎ¼¸¢x ÷£õUS÷Põmk 
\©ß£õmiøÚ ©v¨¤kP: 

Bsk : 1990 1991 1992 1993 1994 1995 1996

©v¨¦ : 75 67 68 65 50 54 41 

15.  (a) Define Index Number and mention its uses. 

  SÔ±möhsPÒ Áøμ¯Ö ©ØÖ® Auß £¯ßPøÍ 
SÔ¨¤kP. 

Or 

 (b) Which is the best method for construction of Index 
Numbers? Explain why. 

  SÔ±möhsPøÍ Pmhø©¨£uØPõÚ ]Ó¢u •øÓ 
Gx? Hß GÚ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Calculate the coefficient of rank correlation from the 
following data: 

X : 48 33 40 9 16 16 65 24 16 57

Y : 13 13 24 6 15 4 20 9 6 19
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 RÌPsh Â£μ[PÎ¼¸¢x uμÁ›ø\ JmkÓÄU öPÊÂøÚ 
PnUQkP : 

X : 48 33 40 9 16 16 65 24 16 57

Y : 13 13 24 6 15 4 20 9 6 19

17. The regression equation of y  on x  is 1594 += xy  

 The regression equation of x  on y  is 17625 += yx  

 Find the mean values of yx,  and r . 

 x  ß «uõÚ yß öuõhº¦÷£õUS \©ß£õk 1594 += xy  

 yß «uõÚ xß öuõhº¦÷£õUS \©ß£õk 17625 += yx  

 yx,  ©ØÖ® rß \μõ\› ©v¨¦ PõsP. 

18. A fair die is rolled, what is the probability of getting an 
Even number? 

 J¸ uõ¯© E¸mh¨£k® ö£õÊx Cμmøh¨£øh Gs 
Á¸ÁuØPõÚ {PÌuPÄ ¯õx? 

19. What is seasonal variation of time series? Describe the 
different methods to measure it and examine their 
relative significance. 

 Põ»zöuõhº Á›ø\°ß £¸ÁPõ» ÷ÁÖ£õk Gß£x ¯õx? 
AuøÚ AÍÂk® •øÓPøÍ ÂÁ›zx ©ØÖ® Ax 
öuõhº£õÚ •UQ¯zxÁzøu²® SÔ¨¤kP. 

20. From the following data calculate Fisher’s Ideal Index: 

Items Price per unit (Rs.) Quantity used

 2003 2004 2003 2004 

A 9.25 15.00 5 5 

B 8.00 12.00 10 11 

C 4.00 5.00 6 6 

D 1.00 1.25 4 8 
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 RÌPsh Â£μ[PÎ¼¸¢x ¤\›ß {øÓ SÔ±möhsPøÍ 
PnUQk. 

ÁøPPÒ J¸ A»Qß Âø» AÍÄPÒ 

 2003 2004 2003 2004

A 9.25 15.00 5 5 

B 8.00 12.00 10 11 

C 4.00 5.00 6 6 

D 1.00 1.25 4 8 

  
———————— 
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U.G. DEGREE EXAMINATION, APRIL 2024 

Economics 

Allied — MANAGERIAL ECONOMICS  

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define managerial economics. 

 ÷©»õsø©¨ ö£õ¸ÍõuõμzvøÚ Áøμ¯Ö. 

2. Which factors motivates the managers according to 
Williamson? 

 ÂÀ¼¯®\ßÛß TØÖ¨£i ÷©»õÍºPøÍ FUP¨£kzx® 
PõμoPÒ ¯õøÁ? 

3. Point out the generic strategies for competitive 
advantage. 

 J¨¥mk AÝT»zvØPõÚ ö£õxÁõÚ EzvPøÍ¨ 
£mi¯¼kP. 

4. How does economics of scale acts as barrier to entry? 

 öuõÈÀ AÍÄ\õº Buõ¯[PÒ GÆÁõÖ ¦v¯ 
{ÖÁÚ[PÎß EÒ~øÇÄUS uøh¯õP EÒÍx? 

5. What is meant by price discrimination? 

 Âø» ÷£u® GßÓõÀ GßÚ? 

Sub. Code 
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6. Write a note on transfer pricing. 

 £›©õØÓ Âø» £ØÔ SÔ¨¦ ÁøμP. 

7. Brief about non-price competition. 

 Âø» \õμõ ÷£õmi £ØÔ SÔ¨¦ ÁøμP. 

8. How to select a marketing channel? 

 \¢øu¨£kzuÀ ÁÈ•øÓø¯ GÆÁõÖ ÷uº¢öuk¨£x? 

9. Define payback method. 

 v¸®£ ö\¾zuÀ •øÓ £ØÔ Áøμ¯ÖP. 

10. In what way dividend is valued? 

 DÄzöuõøPø¯ ©v¨¤k® ÁÈ ¯õx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write about the sales revenue maximising model. 

  ÂØ£øÚ Á¸Áõ´ AvP›¨¦ ©õv› £ØÔ GÊxP. 

Or 

 (b) Explain the managerial utility maximising model. 

  {ºÁõP¨ £¯ß£õmk AvP›¨¦ ©õv› ÁiÁzvøÚ 
ÂÍUSP. 

12. (a) Interpret the structure conduct performance theory. 

  Pmhø©¨¦ |hzøu ö\¯ÀvÓß ÷Põm£õk £ØÔ 
ÂÍUSP. 

Or 

 (b) State the five force model of competition. 

  ÷£õmiØPõÚ I¢x \Uv ©õv› ÁiÁzvøÚ¨ £ØÔ 
TÖP. 
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13. (a) Explain the target return pricing. 

  C»US v¸®£ Âø» £ØÔ ÂÍUSP. 

Or 

 (b) What is skimming pricing strategy? 

  SøÓzuÀ Âø» {ºn¯ EUv GßÓõÀ GßÚ? 

14. (a) Illustrate the promotion in marketing mix. 

  A[Põi°À P»øÁ ÁøPSÂ¨¦ £ØÔ ÂÍUSP. 

Or 

 (b) Explain the factors determining advertising 
elasticity of demand. 

  ÷uøÁ°ß ÂÍ®£μ ö|QÌa]ø¯ wº©õÛUS® 
PõμoPøÍ ÂÍUSP. 

15.  (a) Write a note on net present value method. 

  {Pμ uØ÷£õøu¯ ©v¨¦ •øÓ £ØÔ SÔ¨¦ ÁøμP. 

Or 

 (b) State the investment selection process. 

  •u½mkz ÷uºÄ ö\¯À•øÓPøÍU TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the Marris model of managerial enterprise. 

 ÷©»õsø© {ÖÁÚzvß ©õºì ©õv›ø¯¨ £ØÔ ÂÁ›UP. 

17. Examine the sustaining competitive advantage. 

 ÷£õmi\õº |ßø©ø¯z uUPøÁzuÀ £ØÔ GÊxP. 
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18. Explain the degrees of price discrimination. 

 Âø»¨ £õS£õmiß AÍÂÚ[PøÍ ÂÍUSP. 

19. Discuss the product policy and place in marketing mix. 

 A[Põi¯À P»øÁ°À £sh[PÐUPõÚ öPõÒøP ©ØÖ® 
Ch® £ØÔ ÂÁõv. 

20. Evaluate the cost of capital. 

 ‰»uÚ ö\»ÂøÚ ©v¨¤kP. 

———————— 
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B.A. DEGREE EXAMINATION, APRIL 2024 

Third Semester 

Economics 

MACRO ECONOMICS – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term GDP. 

 ö©õzu EÒ|õmk EØ£zvø¯ Áøμ¯ÖUPÄ®. 

2. Indicate the meaning of real GDP and nominal GDP. 

 Esø©¯õÚ ©ØÖ® ö£¯μÍÄ ö©õzu EÒ|õmk 
EØ£zv°ß ö£õ¸øÍ SÔ¨¤kP. 

3. What is Unemployment? 

 ÷Áø»°ßø© GßÓõÀ GßÚ? 

4. Mention any two assumptions of Classical theory. 

 öuõßø© ÷Põm£õmiß H÷uÝ® Cμsk AÝ©õÚ[PøÍU 
SÔ¨¤hÄ®. 

5. State the components of effective demand. 

 £¯ÝÒÍ ÷uøÁ°ß TÖPøÍU TÖP. 

Sub. Code 
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6. What is Multiplexer? 

 ö£¸UQ GßÓõÀ GßÚ? 

7. State the term consumer price index. 

 ~Pº÷Áõº Âø»U SÔ±møh¨ £ØÔ SÔ¨¤kP. 

8. Define Inflation – Unemployment trade-off. 

 £nÃUP® – ÷Áø»°ßø© ÁºzuPzøu Áøμ¯ÖUPÄ®. 

9. What is relative income? 

 J¨¥mk Á¸©õÚ® GßÓõÀ GßÚ? 

10. Mention the stages of life cycle hypothesis. 

 ÁõÌUøP _ÇØ] ÷Põm£õmiß {ø»PøÍU SÔ¨¤kP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the scope of macro economics. 

  ÷£›¯À ö£õ¸Î¯¼ß £μ¨ö£Àø»PøÍ TÖP. 

Or 

 (b) Explain the expenditure approach of measuring 
GDP. 

  ö\»ÂÚ AqS•øÓ°»õÚ ö©õzu EÒ|õmk 
EØ£zv AÍÃk £ØÔ ÂÍUSP. 

12. (a) Write a short note on aggregate demand and 
supply. 

  ö©õzu ÷uøÁ ©ØÖ® AÎ¨¦ £ØÔ¯ SÔ¨¦ GÊxP. 

Or 
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 (b) State the Say’s law of market. 

  ÷\°ß A[Põi Âv £ØÔ TÖP. 

13. (a) Write a note on Involuntary unemployment. 

  ußÛaø\¯õÚ ÷Áø»°ßø© £ØÔ J¸ SÔ¨¦ 
GÊxP. 

Or 

 (b) What is meant marginal efficiency of capital? 

  •u¼ß CÖv{ø» EØ£zv vÓß Gß£x ¯õx? 

14. (a) Explain the methods of measuring the price level. 

  Âø» {ø»ø¯ AÍÂk® •øÓPøÍ ÂÍUSP. 

Or 

 (b) Write a short note on  costs of inflation. 

  £nÃUPzvß ö\»ÄPÒ £ØÔ ]Ö SÔ¨¦ GÊxP. 

15.  (a) State the theory of absolute income hypothesis. 

  •Êø©¯õÚ Á¸Áõ´ P¸x÷PõÎß ÷Põm£õmøh 
TÖP. 

Or 

 (b) Explain the permanent income hypothesis. 

  {μ¢uμ Á¸©õÚU P¸x÷PõøÍ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the circular flow of income in a three sector 
economy. 

 ‰ßÖ xøÓ²øh ö£õ¸Íõuõμzvß Á¸Áõ´ Ámh `ÇÀ 
Kmhzøu £ØÔ ÂÁõvUPÄ®. 
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17. Describe the types of unemployment. 

 ÷Áø»°ßø©°ß ÁøPPøÍ ÂÁ›UPÄ®. 

18. Examine the major components of effective demand. 

 ö\¯¿UP•øh¯ ÷uøÁ°ß •UQ¯ TÖPøÍ Bμõ²[PÒ. 

19. Critically examine the quantity theory of money. 

 £n AÍÄ ÷Põm£õmøh Â©º\Úzxhß vÓÚõ´P. 

20. Explain the life cycle hypothesis of consumption. 

 ~PºÂØPõÚ ÁõÌUøP _ÇÀ ÷Põm£õmiøÚ ÂÍUSP. 

———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the negative logarithms? 
 Gvº©øÓ ©hUøPPÒ ¯õøÁ? 

2. Definition of a logarithm. 
 ©hUøP°ß ÁøμÂ»UPn®. 

3. ( ) ?2 =++ cba  

 ( ) ?2 =++ cba  

4. There are 25 oranges in a bag. Write the algebraic 
expression for the number of oranges in x number of bags. 

 J¸ Tøh°À 25 Bμg_PÒ EÒÍÚ. Tøh°À EÒÍ 
Bμg_ GsoUøPø¯ C¯ØPou öÁÎ£õhõÚ x 
GsnõP GÊxP. 

5. Define set. 
 Pn® Gß£øu Áøμ¯Ö. 

6. Write the following sets by rule method : { }18,15,12,9,6,3  

 { }18,15,12,9,6,3  Pnzvß Âv•øÓ°ß Ai¨£øh°À 
GÊxP. 

Sub. Code 
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7. Define into function. Give an example of function. 
 \õº¦UPõÚ Áøμ°»UPÚ®. \õº¦UPõÚ J¸ GkzxUPõmk 

u¸P. 

8. What is the formula for a linear function? 
 ÷|º÷Põmk \õº¦UPõÚ `zvμ® GßÚ? 

9. What is Order of Matrix? 
 Ao°ß Á›ø\ GßÓõÀ GßÚ? 

10. Define diagonal matrix. 
 ‰ø»Âmh Ao Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the properties of logarithmic functions? 
  ©hUøP \õº¤ß £s¦PÒ ¯õøÁ? 

Or 

 (b) Solve for k  given, 73log43log3log +=x . 

  öPõkUP¨£mkÒÍ k  wºÄPõs, 
73log43log3log +=x . 

12. (a) Difference between Algebraic Expression and 
Algebraic Identities. 

  C¯ØPou öÁÎ£õk ©ØÖ® C¯ØPou 
öÁÎ£õkPøÍ ÷ÁÖ£kzxP. 

Or 

 (b) Find the value of the y when 100455 =+y . 

  100455 =+y  GÛÀ yß ©v¨¦ PõsP. 

13. (a) How can classified Subsets? 
  EmPnzvøÚ G¨£i ÁøP¨£kzu C¯¾®? 

Or 



S–2226 

  

  3

 (b) If 4,2,1=A  and 3,2=B  what are BA   and 
BA  ? 

  4,2,1=A  ©ØÖ® 3,2=B  GÛÀ BA   ©ØÖ® 

BA   Gß£x ¯õx? 

14. (a) State the types of Functions in Maths. 
  PouÂ¯¼À \õº¤ß ÁøPPøÍU TÖP. 

Or 

 (b) Find the y-intercept of ( )( )xxy −−= 12 . 

  ( )( )xxy −−= 12  y-ß öÁmkxsøhU PõsP. 

15.  (a) Is the determinant of a transpose the same? 
  A÷u JßÖ J¸©õØÓzvØPõÚ wº©õÚ©õP C¸US©õ? 

Or 

 (b) Compute cofactor for the matrix 















=

650
412

125

A . 

  Ao°ß xønPõμoø¯ PnUQkP 
















=

650
412

125

A . 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. (a) Find the log  of 32 to the base 4. 

 (b) Find x  if ( ) 17log5 =−x  

 (c) Solve for x  if ( ) ( ) 1log1log1log 2=++− xx . 

 (A) Ai¨£øh 4 öPõsk 32ß ©hUøPø¯ PõsP. 

 (B) ( ) 17log5 =−x  GÛÀ x  ø¯ PõsP. 

 (C) ( ) ( ) 1log1log1log 2=++− xx  GÛÀ, x UPõÚ wºÄ 
PõsP. 
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17. Overview of the different methods of solving a Quadratic 
Equation. 

 C¸£i \©ß£õkPÎß wºÄUPõÚ £À÷ÁÖ •øÓPÒ £ØÔ¯ 
£õºøÁ ¯õx? 

18. (a) If set { }4,3,2,1=A  and { }7,6=B , =BA  ? 

 (b) Let { }3,2,1=A  and { }5,4,3=B  then, ?=BA   

 (c) If { }7,6,5,4,3,2,1=A  and { }7,6=B  are two sets, 
?=− BA  

 (A) Pn® { }4,3,2,1=A  ©ØÖ® { }7,6=B  GÛÀ, 

=BA  ? 

 (B) { }3,2,1=A  ©ØÖ® { }5,4,3=B  GÛÀ, Akzx 

?=BA   

 (C) { }7,6,5,4,3,2,1=A  ©ØÖ® { }7,6=B  C¸ Pn[PÒ 

GÛÀ, ?=− BA  

19. Find the equation of the line that has a slope of 1/3 and 
contains the point (2, 1). 

 J¸ ÷PõmiØPõÚ \›Ä 1/3 ©ØÖ® (2, 1) ¦ÒÎPÐUPõÚ 
\©ß£õmøh PõsP. 

20. If 







−

=
41
32

A , 







−

−
=

61
25

B  then verify whether 

BAAB = . 

 







−

=
41
32

A , 







−

−
=

61
25

B  GÛÀ, BAAB =  Gß£øu 

\›£õºUP. 
 
 
 

———————— 
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Allied – INDIAN ECONOMY 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the meaning of Developing economy. 

 ÁÍ¸QßÓ ö£õ¸Íõuõμ® Gß£uß ö£õ¸Ò TÖ. 

2. Write about 2nd Generation reforms. 

 2® uø»•øÓ ^ºv¸zu® £ØÔ GÊxP. 

3. How does promotion of population control help growth? 

 ©UPmz öuõøP ÁÍºa]U Pmk¨£õk G¨£i ÁÍºa]US 
EuÄ®? 

4. What is density of population? 

 ©UPm öuõøP Ahºzv GßÓõÀ GßÚ? 

5. Define underemployment.  

 SøÓ{ø» ÷Áø»°ßø© Áøμ¯Ö. 

6. What is human capital formation? 

 ©Ûu ‰»uÚ vμmk GßÓõÀ GßÚ? 

Sub. Code 
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7. Define : Industrial sickness. 

 ÁøμÂ»UPn® öuõÈØ {ÖÁÚ[PÒ |¼ÄPÒ. 

8. What is Industrial Policy? 

 öuõÈØ öPõÒøP GßÓõÀ GßÚ? 

9. When was the NITI Aayog established? 

 NITI B÷¯õP G¨÷£õx E¸ÁõUP¨£mhx? 

10. Short note Economic Planning. 

 ]Ö SÔ¨¦ ö£õ¸Íõuõμ vmhªhÀ. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is the difference between economic growth 
and economic development? 

  ö£õ¸Íõuõμ ÁÍºa] ©ØÖ® ö£õ¸Íõuõμ 
•ß÷ÚØÓªøh÷¯¯õÚ ÷ÁÖ£õk ¯õx? 

Or 

 (b) What are the characteristics of under developed 
economy? 

  ÁÍºa]USßÔ¯ ö£õ¸Íõuõμzvß Snõv\¯[PÒ 
¯õøÁ? 

12. (a) Write a brief note on the role of social factors in 
population growth in India. 

  C¢v¯õÂÀ ©UPmöuõøP ÁÍºa]UPõÚ \‰P 
PõμoPÎß £[QøÚ £ØÔ _¸[P GÊxP. 

Or 

 (b) List the types of objectives of National Population 
Policy (NPP) 2000. 

  ÷u]¯ ©UPm öuõøPU öPõÒøP 2000 ß 
÷|õUP[PÎß ÁøPPøÍ £mi¯¼kP. 
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13. (a) Differentiate between human and physical capital. 

  ©Ûu ‰»uÚ® ©ØÖ® C¯Ø ‰»uÚ® ÷ÁÖ£kzxP. 

Or 

 (b) Give the suggestions and remedial measures to 
remove the unemployment and under employment. 

  ÷Áø»°ßø© ©ØÖ® SøÓ÷Áø»Áõ´¨¦ 
}USÁuØPõÚ E›¯ £›¢xøμPøÍ ÁÇ[QkP. 

14. (a) What is the primary objective of the small-scale 
industry (SSI) policy? 

  ]ÖöuõÈØ {ÖÁÚ[PÒ öPõÒøP°ß •uÛø» 
÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain various forms of privatization. 

  uÛ¯õº ©¯©õUP¼ß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

15.  (a) Explain the main objectives of Indian Five Year 
plans. 

  C¢v¯ I¢uõsk vmhzvß •UQ¯ ÷|õUP[PøÍ 
ÂÍUSP. 

Or 

 (b) Outline the strategy of the Second Five Year Plan. 

  Cμshõ® I¢uõskz vmhzvØPõÚ EzvPøÍ 
÷PõikP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the determinants of Economic Development. 

 ö£õ¸Íõuõμ •ß÷ÚØÓzøu wº©õÛ¨£øÁPÒ £ØÔ 
ÂÁõv. 
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17. Describe the demographic transition theory of population. 

 ©UPmöuõøPU ÷Põm£õmøh ÂÁ›UP. 

18. Summarize some of the remedial measures to contain 
unemployment. 

 ÷Áø»°ßø©ø¯ wº¨£uØPõÚ wºÄ •øÓPøÍz 
öuõSzxøμUP. 

19. Discuss about the promoting measures of 
Industrialization. 

 öuõÈÀ©¯©õUSuø» ÷©®£kzxÁuß ÁÈ•øÓPøÍ 
£ØÔ ÂÁõv. 

20. Critically review the programs of planning in India. What 
major factors have been responsible? 

 C¢v¯õÂß vmhªhø» vÓÚõ´P. vmhªh¾UPõÚ 
•UQ¯ ö£õÖ¨£õÚ PõμoPÒ ¯õøÁ? 

 
 
 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the meaning of interest rate. 

 Ámi ÂQuzvß ö£õ¸øÍU SÔ¨¤hÄ®.  

2. What are the factors causing shifting in the IS curve? 

 IS ÁøÍÂß ©õÖu¾UPõÚ PõμoPÒ ¯õøÁ? 

3. Mention the primary functions of money. 

 £nzvß •ußø© ö\¯À£õkPøÍ SÔ¨¤kP.  

4. What are the three motives of Keynesian money demand 
theory? 

 Rßêß £nz÷uøÁ ÷Põm£õmiß ‰ßÖ ÷|õUP[PÒ 
¯õøÁ? 

5. What is fiscal policy? 

 {vU öPõÒøP GßÓõÀ GßÚ? 

Sub. Code 
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6. Mention a note on fiscal expansion. 

 {v Â›ÁõUP® £ØÔ SÔ¨¤kP.  

7. What are the macroeconomic variables? 

 ÷£›¯À ö£õ¸Íõuõμ ©õÔPÒ ¯õøÁ? 

8. Find the causes for business cycle. 

 ÁoP _ÇØ]UPõÚ Põμn[PøÍ Psk¤iUPÄ®.  

9. State the role of capital in economic growth.  

 ö£õ¸Íõuõμ ÁÍºa]°À ‰»uÚzvß £[øP SÔ¨¤hÄ®.  

10. Write a note on total factor productivity.  

 ö©õzu Põμo EØ£zvz vÓß £ØÔ GÊxP.  

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Narrate the determinants of investment.  

  •u½møh wº©õÛUS® PõμoPøÍ ÂÁ›.  

Or 

 (b) Write a short note on the derivation of the IS curve.  

  IS ÁøÍÂß ÁÈz÷uõßÓÀ ]Ö SÔ¨¦ GÊxP.  

12. (a) List out the various functions of money.  

  £nzvß £À÷ÁÖ ö\¯À£õkPøÍ £mi¯¼kP.  

Or 

 (b) Explain the classical dichotomy of monetary policy.  

  |õn¯U öPõÒøP°ß C¸ÁøP öuõß©® £ØÔ 
ÂÍUSP. 
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13. (a) State the views of fiscal policy in classical theory.  

  £nÂ¯À öPõÒøP £ØÔ¯ öuõßø© ÷Põm£õmiß 
£õºøÁ £ØÔ TÖP.  

Or 

 (b) List the criticisms of fiscal policy.  

  {vU öPõÒøP £ØÔ¯ Â©º\Ú[PøÍ £mi¯¼hÄ®.  

14. (a) Explain the phases of the business cycle.  

  ÁoP _ÇØ]°ß Pmh[PøÍ ({ø»PøÍ) ÂÍUSP. 

Or 

 (b) Write a short note on Keynesian theory of business 
cycle.  

  Rßêß ÷Põm£õmiß£i ÁoP _ÇØ] £ØÔ J¸ 
SÔ¨¦ GÊxP.  

15.  (a) State the sources of economic growth.  

  ö£õ¸Íõuõμ ÁÍºa]UPõÚ Buõμ[PøÍ SÔ¨¤hÄ®.  

Or 

 (b) Explain the role of labour in growth.  

  ÁÍºa]°À EøÇ¨¤ß £[øP ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the derivation and shifting of LM curves. 

 LM ÁøÍÂøÚ ö£ÖuÀ ©ØÖ® |Pºuø» £ØÔ ÂÍUSP. 

17. Critically examine the Keynesian theory of money 
demand. 

 Rßêß £nz÷uøÁ ÷Põm£õmøh Â©º\Úzxhß 
vÓÚõ´P.  
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18. Discuss the instruments of fiscal policy.  

 {vU öPõÒøP°ß P¸ÂPøÍ £ØÔ ÂÁ›UPÄ®.  

19. Examine the role of macroeconomic variables on businses 
cycles. 

 ÁoP _ÇØ]°À ÷£›¯ ö£õ¸Íõuõμ ©õÔPÎß £[øP 
Bμõ´P.  

20. Analyse the impact of technology on economic growth. 

 ö£õ¸Íõuõμ ÁÍºa]°À öuõÈÀ ~m£zvß uõUPzøu 
Bμõ´P.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Definition of Derivatives. 

 ÁøP±mk öPÊÂß Áøμ¯øÓ. 

2. Write the meaning of production function. 

 EØ£zv \õº¦ Gß£uß ö£õ¸Ò GÊxP. 

3. What are the constraints? 

 Pmk£õkPÒ Gß£x GßÚ? 

4. Define marginal profit. 

 Áøμ¯Ö CÖv{ø» C»õ£®. 

5. What is meant by partial differentiation? 

 £Sv ÁøP±miß ö£õ¸Ò GßÚ? 
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6. What about a function of two variables (x and y)? 

 (x ©ØÖ® y) C¸ ©õÔPÐUPõÚ \õº¦ Gß£x ¯õx? 

7. What is Consumer Equilibrium? 

 ~Pº÷Áõº \©{ø» GßÓõÀ GßÚ? 

8. When profit is optimized?  

 C»õ£® G¨÷£õx Ea\ÍÄ C¸US®? 

9. Define LPP. 

 LPP Gß£øu Áøμ¯Ö. 

10. List out the components of Linear Programming. 

 ÷|º÷Põmk vmhªhÀ Gß£uß EÒÍhUP[PøÍ 
£mi¯¼kP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is an example of derivative of logarithmic 
functions? 

  ©hUøP \õº¦ ÁøP±miØPõÚ GkzxUPõmk GßÚ? 

Or 

 (b) Given the total cost function 9082 ++= QQTC , 

find average cost (AC) and marginal cost (MC). 

  öPõkUP¨£mkÒÍ 9082 ++= QQTC  ö©õzu ö\»Ä 

\õº¤øÚ öPõsk, \μõ\› ö\»Ä (AC) ©ØÖ® 

CÖv{ø» ö\»Ä (MC) Psk¤i. 
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12. (a) What is the single variable optimization? 

  J¸ ©õÔUPõÚ Ea\{ø»£kzxuÀ GßÓõÀ GßÚ? 

Or 

 (b) The firm is considering choosing a production level 

q = 20. Is this the profit maximizing quantity for the 

firm? 

  {ÖÁÚ® ÷uº¢öukzxÒÍ EØ£zv AÍÄ q = 20 Cx 

{ÖÁÚzvß C»õ£zøu Ea\{ø» £kzxÁuØPõÚ 

AÍÂÚ©õ? 

13. (a) What are the rules of differentiation? 

  ÁøP±k ö\´u¼ß ÂvPÒ ¯õøÁ? 

Or 

 (b) Let 23),( xyyxf = . Calculate ),(/ yxxf ∂∂ . 

  23),( xyyxf =  GÛÀ, ),(/ yxxf ∂∂ ø¯ PnUQkP. 

14. (a) What are the key features of optimization? 

  Ea\{ø»£kzu¼ß Ai¨£øh C¯À¦PÒ ¯õøÁ? 

Or 

 (b) Explain the types of optimization. 

  Ea\{ø»£kzu¼ß ÁøPPøÍ ÂÍUSP. 
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15. (a) What are the basic assumptions in linear 

programming problem? 

  ÷|º÷Põmk vmhªhÀ PnUQh¼ß Ai¨£øh 

Gk÷PõÒPÒ ¯õx? 

Or 

 (b) Mention the advantages of Linear programming. 

  ÷|º÷Põmk vmhªh¼ß {øÓPÒ SÔ¨¤kP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. For a particular process, the cost function is given by 

2856 xxC +−= , where C  is cost per unit and x , the 

number of unit’s produced. Find the minimum value of 

the cost and the corresponding number of units to be 

produced. 

 J¸ SÔ¨¤mh |hÁiUøPUPõÚ ö\»Ä \õº¦ 

2856 xxC +−=  öPõkUP¨£mkÒÍx. C  Gß£x J¸ 

A»SUPõÚ ö\»Ä, x  Gß£x EØ£zv ö\´¯¨£k® 

A»SPÒ GsoUøP, G¢u AÍÂ»õÚ EØ£zv 

ö\´¯¨£mhõÀ J¸ A»QØPõÚ SøÓ¢u£m\©õÚ ö\»Ä 

HØ£k® Gß£øu Psk¤i. 
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17. The demand equation for a certain product is xp 126 −=  

dollars. Find the level of production that result in 

maximum revenue. 

 K¸ ö£õ¸ÐUPõÚ ÷uøÁ \©ß£õk xp 126 −=  dollars, 

GÛÀ AvP£m\ Á¸Áõ´ ö£ÖÁuØPõÚ EØ£zv AÍøÁ 

PõsP. 

18. Find the partial derivatives : 

 (a) )64(/ 7425 yxyxyx ++−∂∂  and 

 (b) )64(/ 7425 yxyxyy ++−∂∂  

 £Sv ÁøP±mkU öPÊøÁ Psk¤i 

 (A) )64(/ 7425 yxyxyx ++−∂∂  ©ØÖ® 

 (B) )64(/ 7425 yxyxyy ++−∂∂  

19. Using the Lagrangian approach. optimize the function 

xyyxf =),(  subject to the constraint 

1204),( =+= yxyxg . 

 »Uμõß]¯ß AqS•øÓø¯¨ £¯ß£kzv, 

1204),( =+= yxyxg , Áøμ¯øÓUS Em£mk xyyxf =),(  

\õº¤øÚ Ea\{ø»£kzx. 
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20. Solve the following LPP graphically 

 Maximize 21 43 xxZ +=  

 Subject to the constraints 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is legal tender money? 

 \mh•øÓ¨ £n® GßÓõÀ GßÚ? 

2. State any two demerits of money. 

 £nzvß H÷uÝ® C¸ |ßø©PøÍ TÖ. 

3. What is meant by Index Number? 

 SÔ±möhsPøÍ Gß£uß ö£õ¸Ò ¯õx? 

4. State the sources of money supply. 

 £n AÎ¨¤ØPõÚ Buõμ[PøÍ TÖ. 

5. Write the various types of deposits of commercial banks. 

 ÁoPÁ[QPÒ ö£Ö® £À÷ÁÖ ÁøP¯õÚ øÁ¨¦PøÍ 
GÊxP. 

6. What is Bank money? 

 Á[Q £n® GßÓõÀ GßÚ? 
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7. Define Central bank. 

 ø©¯ Á[Q Gß£øu Áøμ¯Ö. 

8. Which bank is known as banker’s bank? Why? 

 G¢u Á[Q Á[QPÎß Á[Q GÚ AøÇUP¨£kQÓx? Hß? 

9. What is the meaning of Banking reforms? 

 Á[Q ^ºv¸zu[PÒ Gß£uß ö£õ¸Ò ¯õx? 

10. Expansion: ATM. 

 ATM ß Â›ÁõUP®. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) What are the qualities of good money? 

  |À» £nzvØPõÚ uSvPÒ ¯õøÁ? 

Or 

 (b) Explain the role of money in a Mixed economy. 

  P»¨¦ ö£õ¸Íõuõμ •øÓ°À £nzvß £[QøÚ 
ÂÍUSP. 

12. (a) Explain the classical view of money. 

  £n® £ØÔ¯ öuõø© £õºøÁø¯ ÂÍUSP. 

Or 

 (b) What are the types of inflation? 

  £nÃUPzvß ÁøPPÒ ¯õøÁ? 
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13. (a) Explain the main features of commercial banks. 
  ÁoP Á[QPÎß •UQ¯ C¯À¦PøÍ ÂÍUSP. 

Or 

 (b) Give the agency services rendered by commercial 
banks. 

  ÁoP Á[QPÎß •PÁº £oPøÍ ÁÇ[SP. 

14. (a) Brief the role of Central bank in a developing 
economy. 

  ÁÍ¸® ö£õμÍõuõμzvÀ ø©¯ Á[Q°ß £[QøÚ 
_¸[PU TÖ. 

Or 

 (b) What are the objectives of Credit control? 
  Phß Pmk¨£õmiß ÷|õUP[PÒ ¯õøÁ? 

15.  (a) Write a note on “Narasiman committee reports’’. 
  |μ]®©ß SÊ AÔUøP°øÚ £ØÔ GÊxP. 

Or 

 (b) State the important functions of RBI. 

  RBI ß •UQ¯ £oPøÍ TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the importance of money in the modern 
economy. 

 uØPõ»¨ ö£õ¸ÍõuõμzvÀ £nzvß •UQ¯zxÁ[PøÍ 
ÂÁ›UP. 

17. Analyze the Cambridge equation of the quantity theory of 
money. 

 ÷P®¤›mI £n AÍÄ ÷Põm£õmk \©ß£õmiøÚ 
£Szuõ´P. 
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18. Evaluate the progress of commercial banks after 
nationalization in India. 

 C¢v¯õÂÀ Á[QPÒ ÷u]¯ ©¯©õUP¾US ¤ßÚμõÚ 
Auß ÁÍºa]°øÚ ©v¨¤kP. 

19. Discuss the methods of Selective credit control. 

 ÷uº¢öukUP¨£mh Phß Pmk£õmk •øÓPøÍ £ØÔ 
ÂÁõv. 

20. Summarize the merits and demerits of Indian money 
market. 

 C¢v¯ £s A[Põi°ß {øÓPÒ ©ØÖ® SøÓPøÍ 
öuõSzxøμUP. 

 

———————— 


